
Math 106-150 Answers to Quiz # 1 17 Jan 08

. 5 1. Find a formula for the function y = f(x) with the following graph:
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Solution. One formula is

f(x) =


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x + 3 −4 ≤ x ≤ 0,

3 0 ≤ x < 2,

x − 2 2 < x < 4.

. 5 2. Suppose the graph of x2 + y2 = 9 is shifted up 2 and left 1. Give an equation of the shifted
graph and sketch the original and the shifted graphs on the axes below. Clearly indicate
which is which.

Solution. The equation of the shifted graph is (x + 1)2 + (y − 2)2 = 9 and the
graph is
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x2 + y2 = 9

(x + 1)2 + (y − 2)2 = 9
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